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1. Ifa, = l(gwg”) <%, then _}E%ﬂ - B
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3. A parallelogram has vertices a2 A(2, -5 4), B/- 1,051, €13, -2, 5}
and [}. The area of the orthogonal prejection of the paraileiogram
anto the plame T+ y+z2=1is P .
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3. suppose ¢, b are censtants such that lics | T bl =0
r—1 4 gd

Thena+bh= X% .
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. f rsin"lzdr= 3 .
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7. Uy = yiz)satishies the diferential equation ry"+3° = =, = > U with
mitial value conditions y(1) = %1 y'{l) =1 Then y[2' = B .

d. Dehne iaK, o, B = { a if azb
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Suppose Z fin, Z b, are both convereent series with a, = 0,6, > 1)

n=1 n<]
o

for all n. Prove that Z Gnbn 15 also convergent.
n=1
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Let fiz) = 618inT + apsin2z+- -+ a,sinnz where a,, -, a, are
rea: wumbers and 7 is a positive integer. Suppose |fiz)] = |z| for
all real r. Prove that |a; + 2a;+ - - + nan| < 1,

3.0 10%) _
The temperature in a neighborhood of the point (%rr_. DJ is given

by the feuction Tfe, y) = v2e ¥ cos . Find the path followed by a
heal-seeking particle that originates at (3T, 0.
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